>
F
o
=
o
o
=
0
=
®]
I

‘ 4 ‘ - A& » X
A A / A N} / = W /.f
---~ 2000210 DNNLLIIIINNNL0II 1) : 120000208224 :::: :§:§:~ :::: 12000000000022000 0% -~ - "y P~c-~ -~
YLl R NN N2
~vy /
y \\\\\\N\\'\Q A= \ \&?‘N\Q\\ (5 A

W/ MY/ &N -V [ MY/ & ?Q\\\!‘M "f

i/ /) A/ T BN/ 1 Y AN \\ L

6000 Ib Capacity Man And Material Hoist

TAKING YOU ABOVE THE REST!

/ »ﬁf //4\\\\\!

\ ‘






Power Cable Hangers \
Power Cable Guides vx

<

Drive Motors .__/

‘
)

7 b » Cathead (Some Models)
5
4
b
A Jump Pole
" /

=

Mast Section

e
NN WA\ 07" S\
LN

AN _ZARNS 4

Electrical Panel

Power Cable '——\
Counterweight ’\

(Some Models)

HOIST COMPANY

T

<z Resistors
| /
). LT ) Working Platform
Type VTie In

« Power Cable Trolley

/—4 Ground Enclosure




DIME

AVR600 6000 Ib Capacity Man & Material Hoist

Spring Buffers \

AVRO Hoist Model: AVR600 AVR600T
Dimensions Imperial Metric Imperial Metric
A-Clear Inside Length 12°'6" 3.81m 12'6" 3.81m
B-Optional Side Door Width 86" 2.59 m 86" 2.59m
C-Front/Rear Doors Width 5'0" 1.52m 50" 152m
D-Overall Height 9'6" 29m 11'6" 3.51m
E-Door Opening Height 6'6" 2m 8'0” 244 m
F-Enclosure Height 12'10” 391m 13'10” 422 m
G-Enclosure Length 14'4" 4.37 m 14'4" 4.37 m
H-Enclosure Width 16'0" 4.88m 178" 5.39m
I-Enclosure Loading Height 4’4" 1.32m 4'4" 1.32m




TECHNICAL DATA

Travel Speed

Standard (SS)

Medium (MS)

High (HSC)

Configuration

Twin or Single cage

Twin or Single cage

Twin or Single cage

Unit of Measure Imperial Metric Imperial Metric Imperial Metric
Rated capacity 6,0001lbs | 2,700 kg 6,000lbs | 2,700kg | 6,0001lbs | 2,700 kg
Rated Speed 150 fpm | 46 m/min | 200 fpm | 61 m/min | 300 fpm | 91 m/min
Counterweight N/A N/A Yes

Max travel distance 1475 ft 450 m 1475 ft 450 m 1475 ft 450 m
Lifting device cap. 750 lbs 340 kg 750 lbs 340 kg 750 lbs 340 kg
Safety device Type D Type D Type D

Gear Ratio 15:1 20:1 13:1

Brake Torque per 221 ft-lbs 300 Nm 221 ft-lbs 300 Nm 221 ft-lbs 300Nm
ELECTRICAL DATA

Power supply 460/3/60 460/3/60 460/3/60
Motor Power (2) x 30hp 22kW 30hp 22kW 30hp 22kW
Full load current 150 Amp 200 Amp 150 Amp
Starting current Varies Varies Varies
Frequency drive 74 hp 55kW 120 hp 90kW 100 hp 75kW
Brake Voltage 220VDC 220VDC 220VDC
WEIGHTS

Gross per car 9,500 lbs | 4,300 kg 9,5001lbs | 4,300kg | 9,5001lbs | 4,300 kg
Mast (650x650x8) 550 lbs 250 kg 550 lbs 250 kg 550 lbs 250 kg
Traveling cable 4 b/ft 6 kg/m 4 \b/ft 6 kg/m 4 \b/ft 6 kg/m
Tie-in 10% of total mast 10% of total mast 10% of total mast




300 [11]

4560 [15']

AVR600 6000 |b Capacity Man & Material Hoist

3775 [12-5"]

MAST
c/L
1400 [4-7"]

2375 [7-10"]

1205
[3-11]

CAR
c/L

500 [1'-8"]

2280 [7-6]
325 [1'-1"]

/L
LEG
‘ ot
BUFFER
c/L
d

MAST
c/L

/L
BUFFER

oL
LEG
[

2280 [7'-6"]
CWT

BUFFER

c/L

325 [1'-1"]

500 [1'-87]

c/L
BUFFER

325 [1'-17]

325 [1'-1"]

& @

AVRO AVR600 SINGLE CAGE CONFIGURATION

WITH 650x650 MAST

4560x3775/4750x300  THICK  CONCRETE

405 [1-47| | W 405 [1'-4"]
|

AVRO 650X650 MAST

NOTE:

1. TOWER MAST TO BE TIED INTO THE
BUILDING PRIOR TO INSTALLING CAR
AND/OR COUNTERWEIGHT

2. lOWER TIE TO REMAN IN PLACE
UNTIL CAR IS REMOVED FROM THE
MAST.

4560x3775/4750x300  THICK ~ CONCRETE

FOUNDATION ~ PAD ~ BY  CONTRACTOR.
CONCRETE ~ TO  HAVE A MINIMUM
COMPRESSIVE STRENGTH OF 20 MPa AT
28 DAYS. REINF. STEEL TO BE DEFORMED
BARS WITH A MINIMUM YIELD STRENGTH
OF 400 MPa

AVRO BUFFER STAND BOLTED WITH (4)
3/4" BOLTS AND HILTI HDI OR WEDGE
ANCHORS PER BASE PLATE

AVRO COMPACT 650 BASEFRAME
ANCHORED TO T/O CONCRETE PAD WITH

(4) 3/4” DIA. ANCHOR BOLTS AND HILTI
HDI OR WEDGE ANCHORS.

4750 [15'-8"]

2375 [7'-107]

MAST
c/L

2375 [7-10"]

R
o/ 1205

[3-117]

R
1205 c

[3-11"]

| 405 [1'-4]

[
BUFFER
c/L

i

[
BUFFER
c/L

405 [1'-47]

COUNTERWEIGHT BUFFER (SOME MODELS)

325 [1-17]
2280 [7°=67]

c/L
BUFFER

/L
LEG

c/L
MAST
4560 [15]

oL
LEG

¢/l
BUFFER
oWt

2280 [7-67]

325 [1-17]

325 [1'-17]

325 [1'-17]

%

%

AVRO AVR600 DUAL CAGE CONFIGURATION

WITH 650x650 MAST

FOUNDATION PAD PLAN LAYOUT

4560 [15']
2280 [7'-67] b 2280 [7'-67]
AVRO  BUFFER  STAND

BOLTED WITH (4) 3/4¢
BOLTS AND HILTI HDI OR

FOUNDATION ~ PAD  BY  CONTRACTOR. WEDGE ~ ANCHORS ~ PER
CONCRETE TO  HAVE A MINIMUM AVRO 650x650 MAST ———————=| BASE PLATE
COMPRESSIVE STRENGTH OF 20 MPa AT 0
28 DAYS. REINF. STEEL TO BE DEFORMED AVRO  COMPACT 650
BARS WITH A MINIMUM YIELD STRENGTH BASEFRAME ~ ANCHORED
OF 400 MPa TO T/O CONCRETE PAD
WITH  (4) 3/4" DA
15M(CAN) [#5(US)] @ 300mm [127] ——— N ANCHOR BOLTS AND HILTI
C/C MAX. BOTTOM EACH WAY \ o 1 o HDI' OR WEDGE ANCHORS.

DEEP

NOTE:

SOIL ENGINEER FOR THE PROJECT TO
ENSURE THAT SOIL UNDER HOIST PAD
IS CAPABLE OF SUPPORTING A CAPACITY
OF 3,000PSF.

FOUNDATION PAD SECTION X-—X

NOTE:
ALL HOIST CAGES ARE DESIGNED AND

BUILT IN CONFORMANCE WITH
CAN/CSA-Z185-M87 ~ LOCAL ~ SAFETY
CODE.

ALL  SIZES AND  DIMENSION  ARE

SUBJECT TO CHANGE AT ANY TIME
WITHOUT NOTICE AND MUST BE VERIFIED
BY LOCAL CERTIFIED ENGINEER.

ANY CHANGES OR MODIFICATION SHOULD
BE CONSULTED WITH AVRO HOIST
COMPANY.

ALL  TIE-IN  ANCHOR  SPECIFICATION
AND/OR EXISTING STRUCTURE
REINFORCING TO BE DESIGNED AND
APPROVED AS PER LOCAL
SAFETY\STANDARDS AND REGULATION BY
LOCAL CERTIFIED ENGINEER PRIOR TO
ANY WORK COMMENCING.




2870 [9'-5"] 4590 [15'-0"]

SLAB OPENING SLAB OPENING
’ ” MAST il 1] »”» MAST i ”
575 [1'-11"] C/L 2295 [7'-6"] 2295 [7-6"] C/L 2295 [7-6"]
E/O TYPICAL BUILDING SLAB
o \ / N v .
e = \\ / AN 7 c E
= 2 Y, N / N &
g f \ y | < 9870x4270 TEMPORARY 4590x4270 TEMPORARY— | N P L, °
8 N / SLAB OPENING SLAB OPENING N | y 3 2
—2 & i\ N s S —|®
o AVRO 650x650 MAST s e
2 3 ] - - <z =g
o|lx = o | O= oS
IN{B= —x / N\ NI
g o /N p AN — 13
g8 T / \ —
K | s | N X 2
S > / \ / N ~, 3
g = \ NOTE: 4 \ o S
E / N TEMPORARY SLAB OPENING SHOWN IS A 7 o = e
~ / \ Ve AN ~ 4
; \ CLEAR UNRESTRICTED OPENING, FREE OF ANY ’ ~ =
OBSTRUCTIONS INCLUDING REINFORCING STEEL / N
PROJECTION.
SINGLE CAGE SLAB OPENING PLAN LAYOUT DUAL CAGE SLAB OPENING PLAN LAYOUT
WITH 650x650 MAST WITH 650x650 MAST
AVRO TYPE V 650 TIE-IN BRACKET MAY
ALTERNATIVELY BE BOLTED TO TOP OR
BOTTOM OF SLAB WITH () 3/4" BOLTS
AND HILTI HDI ANCHORS OR (6) %"® HILTI
- KWIK BOLTS. (3) PER SIDE. =
[a [= 1
£ £
Z AVRO TYPE V FACE OF SLAB 650 TIE-IN S
sl BRACKET BOLTED WITH (4) 1 1/4° BOLTS =
= & CAST—IN PLACE ANCHORS OR WELDED TO =
g F/0 EXISTING SPANDREL BEAM g
M = = )
\ M__N (E/O SLAB E/0 SLAB—¢ M__N
H|5 N ) . . H|a
o O AVRO TYPE V | = ) HE o
- 650 TIE-IN ASSEMBLY i =
e @fZ T v oF =
K o=
e g2 e g2 &
5 RS AVRO 650x650 MAST N2 - =
g 53 1 ‘ - T 52 g
D D
G = AVRB00 CAR = a3
9 INTERNAL CLEARANCE ’ §
) 3810 [12'-6"] LONG £
0 E 1520 [5'~0"] WIDE H ©
o =
COUNTERWEIGHT (SOME MODELS)
1205 1205 1205
[3-11]" [3-117 | [3-117
c/L c/L c/L
CKR CJ{R C}(R
400 [1'-4] 2100 [6'~11] 2100 [6'-117] 2100 [6'-11"]
C/C c/L
MAST MAST
2500 [8'-3"] 4200 [13'-10"]




300 [17]

4560 [15']

AVR600 6000 |b Capacity Man & Material Hoist

!

4560 [15]

4025 [13'-2"] 5000 [16'~4"]
NOTE:
MAST MAST
1525 [57 % 2500 [8'-2") 1. TOWER MAST TO BE TIED INTO THE 2500 [8'-2"] ' 2500 [8'-2]
on BUILDING PRIOR TO INSTALLING CAR o o
. AND/OR  COUNTERWEIGHT o . .
1330 [4'-4"] 1330 [4'-4"/1330 [4'-4"]
2. LOWER TE TO REMAN IN PLACE
UNTIL CAR IS REMOVED FROM THE
MAST.
@] 4560x4025/5000x300  THICK ~ CONCRETE —
i FOUNDATION ~ PAD  BY  CONTRACTOR. ﬁv
— i CONCRETE 70 HAVE A  MINIMUM —
o w Lo COMPRESSIVE STRENGTH OF 20 MPa AT o e
o X = 940 [3'-17] | 28 DAYS. REINF. STEEL TO BE DEFORMED =, NS
] = - ] Y| BARS WITH A MINMUM YELD STRENGTH S = L
~ q ] =, OF 400 MPa = 3 g =
% Dol o w 0 = b %
& sEs £ | ¥ 1] s <ks 8
o BSOS E— _ +— E5— _ Sa )
g5 2 |~ ARO BUFFER STAND BOLTED WITH (4) 2 s8]
By S - 3/4° BOLTS AND HLTI HDI OR WEDGE \ S8
83 _ E ANCHORS PER BASE PLATE B _ 28
S - gES| T © B/_aé I ™ 2 SEs o I
Al — 2 | | Al Al 2 — |7
>, = — = = — - =
o S o | AVRO  COMPACT 900  BASEFRAME o NI
Q = = | Q|  ANCHORED TO T/O CONCRETE PAD WITH S | | =, = |8
o 8 o (4) 3/4” DIA. ANCHOR BOLTS AND HILTI . 8 °
3 L HDI OR WEDGE ANCHORS. 3
@J COUNTERWEIGHT BUFFER (SOME MODELS) I'[b
450 [1'-6"] 450 [1'-6"] 450 [1'-6"] 450 [1'-6"]
% & “ &
AVRO AVR600 SINGLE CAGE CONFIGURATION AVRO AVR600 DUAL CAGE CONFIGURATION
WITH 650x900 MAST WITH 650x900 MAST
FOUNDATION PAD PLAN LAYOUT
4560 [15']
2280 [7'~6"] o 2280 [7'-6]
NOTE:
ALL HOIST CAGES ARE DESIGNED AND
QXFE%D 3«%??4) i}’?‘g BULT  IN  CONFORMANCE  WITH
CAN/CSA-Z185-M87 ~ LOCAL  SAFETY
4560x4025/5000x300 THICK ~ CONCRETE BOLTS AND HILTI HDI OR copé
FOUNDATION ~ PAD  BY  CONTRACTOR. WEDGE  ANCHORS  PER ALL  SIZES AND DIMENSION  ARE
CONCRETE TO HAVE A  MINIMUM AVRO 650900 MAST BASE PLATE SUBJECT TO CHANGE AT ANY TME
COMPRESSIVE_STRENGTH OF 20 MPa AT . WITHOUT NOTICE AND MUST BE VERIFIED
28 DAYS. REINF. STEEL TO BE DEFORMED AVRO  COMPACT 900 BY LOCAL CERTIFIED ENGINEER.
BARS WITH A MINIMUM YIELD STRENGTH BASEFRAME ~ ANCHORED ANY CHANGES OR MODIFICATION SHOULD
OF 400 MPa 70 T/O CONCRETE PAD BE CONSULTED WITH AVRO HOIST
WITH  (4) 3/4" DA COMPANY.
15M(CAN) [#5(US)] @ 300mm [12] D ANCHOR BOLTS AND HILTI ALL  TE-IN  ANCHOR  SPECIFICATION
C/C MAX. BOTTOM EACH WAY \ ) HDI OR WEDGE ANCHORS. AND/OR EXISTING STRUCTURE
REINFORCING TO BE DESIGNED AND

DEEP

NOTE:

SOIL ENGINEER FOR THE PROJECT TO
ENSURE THAT SOIL UNDER HOIST PAD
IS CAPABLE OF SUPPORTING A CAPACITY
OF 3,000PSF.

FOUNDATION PAD SECTION X=X

APPROVED AS PER LOCAL
SAFETY\STANDARDS AND REGULATION BY
LOCAL CERTIFIED ENGINEER PRIOR TO
ANY WORK COMMENCING.




3120 [10'-3"] - 4840 [15'-10"]

SLAB OPENING SLAB OPENING
‘ MAST , , MAST ,
700 [2-4"] C/L 2420 [7-11") 2420 [7-11"] C/L 2420 [7-117]
E/O TYPICAL BUILDING SLAB
N v
= \\ // AN s I 2
= - N v - =
s ] N e S / ] g
o \ / | <—3120x4270 TEMPORARY 4840x4270 TEMPORARY —=—| AN e o, 5
8 [N / SLAB OPENING SLAB  OPENING N | P = 2
2 N N s 3 —?
Y = AVRO 650x300 MAST fesia e
5 2 - — - — = — 58 = g
ol o= | & A L o= o
NE =8 / \ 5 Rl
- =] o // \\ // \\ = =
@ N | /s | N | Q
= ~ / \ ~ ~ T~ 3
3 . \ s N — >
2 o ; \ NOTE: s N < ISt
ER y \ TEMPORARY SLAB OPENING SHOWN IS A - N = €
, \ CLEAR UNRESTRICTED OPENING, FREE OF ANY e AN =z
OBSTRUCTIONS INCLUDING REINFORCING STEEL
PROJECTION.
SINGLE CAGE SLAB OPENING PLAN LAYOUT DUAL CAGE SLAB OPENING PLAN LAYOUT
WITH 650x900 MAST WITH 650x900 MAST
AVRO TYPE V 900 TIE-IN BRACKET MAY
ALTERNATIVELY BE BOLTED TO TOP OR
BOTTOM OF SLAB WITH (6) 3/4°¢ BOLTS
AND HILTI HDI ANCHORS OR (6) 3%’¢ HILTI
R KWIK BOLTS. (3) PER SIDE. _
[« o
= £
z AVRO TYPE V FACE OF SLAB 900 TIE—IN z
— BRACKET BOLTED WITH (4) 1 1/4’% BOLTS =
= & CAST-IN PLACE ANCHORS OR WELDED TO =
g F/O EXISTING SPANDREL BEAM g
M Ly M ( E/0 SLAB E/0 SLAB —* M L M
BT [=! j 1 +lg
o g ! AVRO TYPE V | CE o
o T 900 TIE-IN ASSEMBLY TE S
o 0= o= o
o I %ol
el g2 ! B
o N2 e AVRO 650x300 MAST N T )
R i _ ~ _ i o o
3 <= ! 32 g
3 o o 3
I ] | AVR60O CAR 5
L, INTERNAL CLEARANCE L,
0 3810 [12'-6"] LONG ©
2 ﬁ 1520 [5'-0"] WIDE h I 2
COUNTERWEIGHT (SOME MODELS)
1330 [4'-47] 1330 [4'-4"][1330 [4'-4)
c/L c/L c/L
CAR CKR CKR
SRR 2t 2220 [7'-3"] 2220 [7'-3"]
C/L
g i
2745 [9'] v
4440 [14'-6"]




AVR600 6000 b Capacity Man & Material Hoist

AVRO TYPE V.  TIE-IN BRACKET  MAY
ALTERNATIVELY BE BOLTED TO TOP OR
BOTTOM OF SLAB WITH (6) 3/4"@ BOLTS
AND HILTI HDI ANCHORS OR (6) %8 HILTI
KWIK BOLTS. (3) PER SIDE.

2904|290+ | 300

ALTERNATIVE TIE-IN OPTION

AVRO MAST

1 411 47 [127]
K.

AVRO TYPE V FACE OF SLAB TIE-IN BRACKET
BOLTED WITH (4) 1 1/4% BOLTS

AVRO TYPE V TIE-IN ASSEMBLY

%%— - %%

TYPICAL AVRO TYPE V TIE—-IN DETAIL SECTION

INTO CONCRETE FLOOR SLAB ASSEMBLY

STEEL DECK AND CONCRETE TOPPING FLOOR
ASSEMBLY

KEEP TO MINIMUM
ADJUST IN FIELD
TO ALLOW WELDING
ALONG TOP

Py
4.

AVRO TYPE V FACE OF SLAB TIE-IN BRACKET —
WELDED TO FACE OF EXISTING SPANDREL
BEAM -

EXISTING SPANDREL BEAM

AVRO TYPE V TIE-IN
ASSEMBLY

AVRO MAST

TYPICAL AVRO TYPE V TIE—IN DETAIL SECTION

NOTE:
STRUCTURAL ENGINEER FOR THE PROJECT

INTO STEEL DECK & CONCRETE FLOOR ASSEMBLY

IS TO DETERMINE THE REQUIREMENTS
FOR ADDITIONAL FRAMING REINFORCEMENT
TO SUPPORT THE LOADS TRANSFERRED
TO STRUCTURE FROM HOIST.

(1) 15M(CAN) [#5(US)] x 3200/3400mm

T/0 SLAB TIE-IN SLAB
a

a

N

SLAB
EQ EQ

A g

[126"/134"] LONG REBAR  THROUGH

A é ANCHORS

MAST
c/L
190 [7%"] 190 [7%"]

ANCHORS
& B &
/‘6)\‘% 1500 78> /‘{9)\‘% 1500 “%5\

| B [50] (58] |
A5 ™~ T— 4? . As
b [} b ]
) E/O SLAB AT TYPICAL FLOOR <z]] e
Iz =
«© ©
i 340 [13%] 340 [13%"] (4) 1 1/4"0 NATIONAL CONCRETE 440 [1'-57 [17 1/27] 440 [1-5" [17 1/27] S|B
=1 ACCESSORIES ECF—4W IN FACE =1
Rz OF SLAB AT MID HEIGHT OF ALL L ! &=

§< _ _ T | - - TIE-IN SLABS INSTALLED AS PER = — —

© MANUFACTURERS SPECIFICATIONS 9 z

| [ 1o
AVRO 650x650 MAST/

AVRO TYPE V 650 MAST CAST—IN PLACE ANCHOR LAYOUT

SECTION 7-7

(1) 15M(CAN) [#5(US)]
x  3200mm  [126"]
LONG REBAR THROUGH

(1) 15M(CAN) [#5(US)]
LONG REBAR THROUGH

\P (4) 1 1/4" NATIONAL CONCRETE

ACCESSORIES ECF-4W IN FACE OF SLAB
AT MID HEIGHT OF ALL TIE-IN SLABS
INSTALLED ~ AS  PER  MANUFACTURERS
SPECIFICATIONS

290 [11 1/27] 290 [117 [11 1/27]

3400mm  [1347]

ANCHORS \ <ZI'|

H

o
/L
MAST

AVRO 650x900 MAST
AVRO TYPE V 900 MAST CAST—IN PLACE ANCHOR LAYOUT




VYDOMAY




AVRO

HOIST COMPANY

\&

CONTACT

Tel: (905) 362-3740
Fax: (905) 362-3744

info@avrohoist.com

Q

ADDRESS

6240 Danville Road
Mississauga, ON, L5T 2H7



